PART -1 HIT-1

1. Match the following : 1. Yafaa HINT

(a) Mandamus (i) Bemore (a) AR ()  qorae gfea
fully EdIELY
informed

() Habeas Corpus (ii) Letus (b) T IRl (i) FH T AT
have
the body

(¢) Certiorary (i) By which (i) ferd YRR
authority q

(d) Quo-warranto (iv) We @W (iv) = ST 2
command O g

Codes ,

@ b © (@ Q\ @ & © @

(A) ) @ 0 6@ Q2w @o @

B) @ @) @ @) é (B) @@ @(v) @ @)

© @ @ @O @) © @ @ O )

(D) @) @@ @ .( O) Gv) @) O @)

2.  Which of the 0 % event was 2. Treteread # ¥ SRS HeT w6 4 F fafen

responsible fo exatlon of this state T § dfged & fag IJErE af?

in British empire ?

(A) Assassination of Major Sidwell in (A) e 1858 W AR fasaet i g
jan. 1858

(B) Jenkin’s Report of April 1827 (B) Tl 1827 Wt Sl ht R

(C) Death of Raghuji III, the Raja of (C) femrat1853 T TR 3 Tl WA
Nagpur in Dec. 1853 EAle G|

(D) Formation of the central Provinces (D) =R 1861 T HEIYT 1 TS

in November 1861

SPACE FOR ROUGH WORK 7 T hTdl & To1d S1Te
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3. If A, Band Crepresent vertices, edges and 3. e A, BAgI C TH 1 F ‘\Jﬁﬁff, TRl e

surfaces of a cube, then the value of TeTehl @l G SR & TTA+B+C <l o=
A+B+C will be : CUIE |
(A) 24 (A) 24
(B) 26 (B) 26
() 20 G 20
(D) 22 | (D) 22
4.  Printer in which output is printed by use 4. Ty @medm 3ﬂ'\'3€h‘ iR
of light beam and particles of ink infused 1 TR HHig 9 33y =l fie war 81

on paper is best classified as :

(A) Character Printer & Character Printer
(B) Line Printer O (B) Line Printer

(C©) Laser Printer (C) Laser Printer

L 4

(D) Beam Printer :\ . (D) Beam Printer
O Frefeied wem o faam =i

5.  Consider the statements : 5.
(i)  Rajim is famous f Lochan () ufSm TS @ee fery dfe & fag
Vishnu Temp@ afg B
(i) 13th Kumbh rganized in this (i) =R 139 Fr et fram T
city.
(i) It Gariaband district. | (i) I RS forer 7 feea )

(iv) ple here has eighth century (v) el % TR A 8 off warsdt #1 P
inscription. Tl

Which of the above statements are Ul § | HN-91 HE '{:lﬁ‘ g7

correct ?

(A) ), ), i) (A) (), (), (i)

®) (i) i), (v) (B) (i), (i), (iv)

© (i), (v), ) © (i), Gv), (i)

(D) (iv), ), (i) D) @), (), (i)

SPACE FOR ROUGH WORK / T T3 & o w1
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6. Which State has Tertiary coal region ? 6. =errd wgen & fFa T W B2

(A) Chhattisgarh (A) BUETR

(B) Jharkhand (B) wR@Us

(C) Orissa (C) 3

(D) Arunachal Pradesh (D) 31EumEcd R

7. cccbb_aa_cc_bbbaa ¢ 7. ccebb_aa_cc_bbbaa_c

(A) acbc (A) acbc

(B) baca (B) baca

(C) baba (C) Dbaba

(D) acba (D) acba

8.  Morley Minto Reform came into existence 8. AR @’i e sifra o o7 ?

m:

(A) 1909 09

(B) 1930 . Q’ 1930

(€) 1945 \ c) 1945

(D) 1919 OQ (D) 1919

9.  The word wrap feature : 9. =<y fadman g

(A) Automatically movest ofiext (A) STERISRd B T TR D SFTA A
line when neces%aryQ‘ H wa: 491 @R

(B) Appear at th of the (B) E@ﬁ?a?ﬁﬁ?f T H fem g1
document, @

(C) Allow yxty over text (C) o8 THFE W 2T I I Gl <l 71
(D) None of th (D) S o FE off Tl

10. Who of the following was the first 10. T9 M9 & 9UH TgHAT YT ESHESTETRS

‘Padmashree’ recipient litterateur of this Freferfiad # @ ®H 972
state ?

(A) Padumlal Punnalal Bakhshi (A) TgAETE e S
(B) Pt Mukutdhar Pandey (B) . YRR Wved

(C) Pyarelal Gupta (C) e T

(D) Kunj Bihari Chaube (D) i forert =i

- SPACE FOR ROUGH WORK 7 T% &hTd & Tord =Te
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11.  What will be the incentive amount to Gram 11. 500 = S{ER 7o SI6 U et STaiRes ey
Panchayat for solid and liquid waste o fore o e ) diedre i Bl
management up to 500 households ?

(A) Upto% 7 lakh (A) X779 d®

(B) Up to¥ 12 lakh (B) R 12<mg a%
(C) Upto¥ 15 lakh (C) X 15<E I
(D) None of these (D) ¥ Q=i

12.  What percentage of railway track is 12. =9 2016 9% 9Ra H wq % & fore wfawma
electrified tll 2016 in India ? 1 feregefteror foma < e 8 2
(A) 50 percent 50 e
(B) 30 percent ( 30 wieerd
(C) 33 percent O(L) 33 giasra
(D) 20 percent . g) (D) 20 gfaem

\3

13. The concept of ‘Basic Struct @% 13. wol= =rareq gR._ aHa |
Constitution” was propo by the "HITHM T STERYE T’ Y SEHRon i
Supreme Court in the caselgi™y Y gfaares fea
(A) Minerva Mills Q (A) Tret foew omen
(B) Golaknathh ab (B) ieTshTe HITET
(C) Kesha harati Case (C) AT R W
D) A. Jan Case (D) T T T

14. Arrange the passes {rom North to South 14. SR Y o = wl w R
as per their order :

(A) Bhorghat, Thalghat, Palghat (A) HIEE, ATETHR, YeTe
(B) Bhorghat, Palghat, Thalghat (B) MIREE, UGTHIE, oeTse
(C) Thalghat, Bhorghat, Palghat (C) 9T, YRER, eTEe
(D) Thalghat, Palghat, Bhorghat (D) dTeTEE, qIeTHE, YREE
Set - A 6 8120/ HE-FO/RCE-M



15. During the Independence Movement 15. e e & g e weer | i

“Simla Conference” was organized in the oe st feran T ?
year :

(A) 1931 (A) 1931

(B) 1945 (B) 1945

(C) 1930 (©) 1930

(D) 1935 (D) 1935

16. The diagonals of a Rhombus are 12 cm 16, TF goEgys & fawol wown 12 9.l a0

and 16 cm respectively then each side of 16 T3, 2 A SHH T ST H TG B
the Rhombus will be :

(A) 8cm (A) &

(B) 6cm ( .

(C) 10 cm (G104

(D) 12 em ’\ o(D) 129

17. Special effect used to introduce slid O . TRyE § s § fady geE w0 ST
a presentation are called : AT FHEA @ -

(A) Effects Q (A) Effects
(B) Custom ammat&ono (B) Custom animation

(C) Transitions (C) Transitions

(D) Present@ (D) Present animation

18. Which is not included in “Panch Sutra”  18. ¥a-Wgral ¥l ‘=g Y weE

to provide ‘Revolving Fund’ to Self-Help F fou ‘va g’ ¥ R e EEREEIRIEH
Groups ? g7
(A) Weekly meeting regularly (A) T qraifes doF

(B) Monthly Saving Regularly () frafua wfas s=a
(C) Regularly internal transaction ) Frafm aTafEs
( (

D) Regularly weekly accounting D) frafia arifes T YR

8120/ HE-FO/RCE-M 7 Set - A



19. If 'PQR means P+ Q' ; 19. Afg ‘PQR&# A4 T P+Q ;

‘RST means R—T’; ‘RST &1 314 § R-T;
“UVW means UZx W2 ; ‘UVW &1 31 & U2x W2 ;
and “WXY means W2+ Y2 ; qu WXY 1 o1 & W2+ Y2,
then the value of T 1Q2V8X4S1 T U 7 :
1Q2V8X4S] is :
(A) 84 (A) 84
(B) 28 (B) 28
(€) 64 Q) 64
(D) none of these (D) T A w1 T
20. In budget of this state for the financial 20. %férﬁaaézols-méxwﬁfq@@r
year 2018-19 the increase in allocation for qarr e CaL| H fre ftwra gig =t
Agriculture, when compared with ?
previous year is : ()O
(A) 19% . (A) 19%

B) 29% \’ (B) 29%
©) 39% O (©) 39%

(D) None of above (D) 39U | =5 T

21. fog O, Y9 ABC =1 3ifa:F= ¥ a
£A=30°T £BOC 1 AT B :

21.

(A) 90° (A) 90°
(B) 100° (B) 100°
(©) 105° (C) 105°
(D) 110° (D) 110°

SPAGE—PGR—RQUGHWGRK—/—W—W—%%&W—

Sct - A 8 8120/HE-FO/RCE-M



22.

23.

24.

In which of the following place Iron and ~ 22.
Steel Industry were established before
Independence ?

(A) Durgapur
(B) Rourkela
(C) Bokaro
(D)

Burnapur

The length of the longest pencil that can 23.
be placed in a box measuring

ﬁwf%ff@ﬁﬁﬁmwmmm%qaf
wier wd geurq Sen wenfia e T ar?

g A x 6 T, x2 Al fawed ad wh

8 cm x 6 cm X2 cm will be : g2

(A) 2413 em ()® 2413 AL

(B) 2413 cm ’\ OB 2 A

(C) 2426 cm OQ (C) 2426 9.4l

(D) 1042 cm (D) 1042 QL

Stop in Baloda Ba ; 'sQed as 24, ARl SISTR H %1 Hied €

GET NET aloda is in Stop

is coded as’&§' ET NET GET. Raipur
is capital is coded as VAT SET NET. Then
what will be coded as GET NET SET ?

Raipur is Stop.
(B) Stop in Raipur.
Stop in Baloda.

Capital in Raipur.

GET NET DATE MET @, STefia1 # w1 8
FHfed § FAT MET NET GET 9, 941 TIX
TSt ¥ e 8 VAT SET NET ¥ | 99 i
1 fed S GET NET SET 972

(A) TIR FHA B
(B) AR H eI
(C) et | Tkl |
(D) TAR H Q|

SPACE FOR ROUGH WORK / T% & o s
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25.  Assuming 2012-14 as the base year which ~ 25. &% 2012-14 %! 3THR AFd §U fhE 79 %

state has maximum drop in sex ratio for T 9 "eof o 2013-2015 % forw g

the reference year 2013-2015 ? sifeek it g © 2

(A) Karnataka (A) HAEH

(B) Gujarat (B) s

(C) Uttarakhand ©) zaugErs

(D) Himachal Pradesh (D) fenreet =

26. The main job of a CPU is to : 26. WYY HYA FHE

(A) carry out program instructions ~(A) unmm e @ fpefed s

(B) store data/information for future (B) wfosa ¥ 394 % fore sy / G I
use TR BT

(C) process data and information ST Td YAl NG HE

C
(D) both (A) and (C) OD) (A) 3R (C) 2F
. O
27.  Match the following : Q\ %7, frefafad # gafaa ifs
i

(a) Deficiency of (i) Rick (a) feifiE B, () Rezm

<,

Vitamin B; 1 HH]

(b) Deficiency of (i) @ (b) fafE K (i) o =’
Vitamin K i A

(c) Deficiency of @) Blood (c) Taaif@= D (iii) T ST T
Vitamin coagulation i AT qaE

problem

(d) De Qf (iv) Night (d) faafm A (iv) T e
Vitamin A blindness I HH

Codes : E R
@ () () (9 @ () () ()

(a) @ @ (@) (v) (A4 @ @ @) @)

(B) @) @@ @) @ (B) () (@) (i) (i)

€ @@ @) @ @) © @) @) @ @)

D) @) @ (v) (i) (D) @) @ (v) @)

SPACE FOR ROUGH WORK / % &1d & 3 svrg
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28. @-I@ﬁ-II%WH@WEWW

28. Match List - I with List - II and with the
help of code choose the correct answer : H9 fed el I HerE H TEl ST A T
i
List-1 List-11 -1 Tl - 10
(Tourist place) (District) (e W) ( frar)
{(a) Pachrahi (i) Kondagaon (a) TR (i) FRITSTTE
(b) Chitmitin (i) Rajnandgaon (b) Toefufer =mm wfex (i) REEIRIIE]
Mata temple
(c) Gadhdhanora (iii) Sukma (c) TEEIU (i) g
(d) Madiakhol (iv) Kabirdham (d) v@ (iv) HEIRHM
Codes : Q:
odes . ()
@ ® © @ Q\* @ O © @
(A) (v) @) @ @) O (A) @) @) @) @
® & 6 6 @ é ® @ O @ O
© ) G @ 60 © G @ ) 0
(D) (@) (111)Q ) (D) @ @) @) 0O
29. Which of the following is used as  29. Pt B & Far gfere o 8§ qiet
moderator in Nuclear Reactor ? 1 HTH BT © 2
(A) Uranium (A)
(B) Graphite (B) UHEE
(C) Thorium () aifem
(D) Heavy water (D) Tl =X

SPACE FOR ROUGH wuumw&ﬂ?ﬁﬁ%ﬁ%% -
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30. Inthe context of VIII™ schedule of Indian 30, WRd™ WM &7 st AT & Heof H
Constitution which of the following is e 1 9§ o eTEg B2 _
unconcern ?

(i)  Kashmiri i wHeE
(i) Bhojpuri (i)  HTIh
(i) Urdu (i) 3§

(iv) Sanskrit (iv) H&pa
(v) Konkani (v) i®u
(vi) Chhattisgarhi (vi) SUETE
Codes : e :

(A) ), (vi) (@Vi)
(B) (i), (ii1) (ii), (iii)
© (), ) . @> (i), (v)
(D) G, (vi Q\ * O G v

31. 2%-1 is divisible by whi&@ 31. 21 f= | § forad g favsa ¥2
number ?

(A) 11 Q (A) 11
* O (B) 13
@\ o 1
(D) 19 \ (D) 19
32.  Which of the following is the major tribe 32. TS I TH@ S Frefeliad 5 9 S
of this state ? ®?
(A) Gond (A) s
(B) Oraon (B) U«
(C) Baiga (C) =
(D) Kamar (D) =R
. —ME%GR—RGUGHWBRK—/—TWRF&?‘%&W
Set - A 12 8120/HE-FO/RCE-M




33. Rahul, Raman and Rawte are Prof., 33. g9, T a1 T YR, Sl adr gl
Doctor and Engg. Rawte is not a Prof. ¥ e TR e ¥ T ey o ¥
Raman is the tallest. The shortest person T B Al T TR T WHE
is a doctor. Professor’s height is the GM 35aT8 3T 1 i é%rrﬁ‘qﬁ FGM el @ =
of the heights of the other two. Then FY AT E?
which of the following is true ?

(A) Rawte is a Prof. and he is the (A) T TE T § A1 9% W9 BT B 1
shortest.

(B) Rawte is a Doctor and he is the (B) TG Teh TR § &R o8 ol B gl
shortest.

(C) Ramanis aProf. and he s the tallest. (C) WITH IFER § T 9 el vl ©

(D) Rahul is a Doctor and he is the (D) TEe! U TR T T e Tl B )
shortest.

34. What type of device is a digital camera 7 34. fore yerR 1 feared B 2
(A) Input nput
(B) Output Output
(C) Storage . (ﬂ) Storage
(D) Flush ¢ (D) Flush

35. Find the next figure : arren fem 3 i)

21 42 i 03 21 42 - 03
6 12 15 6 12 15
S|7 <211 ED[13(O39(QE AI[169488 X7 <p21|IS Er13(390€ dIfl6r48 8y | 7
12 24 3 12 24 30
42 84 42 84 06
62 . b 62
13 8
BI14(42/Sh pI{14(0H42/Sh
(A) % 4 Q (&) 26
25 25
43\ 43
e o
81118(054ipd 8I|18(O54[he
(B) 34 (B) 34
86 86
43 43
17 17
180548 8I|18()54(hC
© g © %5
86 86
34 34
17 17
81|18 54(ha 3118054/
(D) < (D) 34
36 86
SPACE FOR ROUGH WORK / T T4 & ol e
13 Set- A
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36. ©fY foras TR T et § 2 41. The principal is going to look _ N
(A) TH the matter, since it has been creating
roblems.
®) 2:[ FA) out of
© (B) towards
(D) =W (C) into
(D) to
37. 9 Fer fop e e M)
" 42, The phrasal verb ‘fell out’ means :
(A) HTT 9 B
(A) exploded
(B) fo o (B) quarrelled
(C) | a1 (C) failed to work
(D) fagame T (D) 1 away
43, was put out when I refused his
‘ﬁ.cm;ni g _ W 7
38. H - & est for a loan.”
(A) EERINIC] . Q)ut out’ in the above sentence means :
(B) &% \ ¢ (A) annoyed
© f& O (B) disconcerted
(D) FHurg (C) not satisfied
(D) unatfected
39. TTH HH R 9y w 44. Sorry, thereis __ coffee left.
(A) HI ¢ (A) some
(B) TR @ (B)  no.
c Q (€) much
(Q) W\ (D) any
(D) 91
45, “The monsoon ___in July every
40. S R W Teretar & year.” Choose the correct phrasal verb
(A) w@EY to fill in the blank in the above sentence.
A) broke down
®) v (
(B) fell out
(© s () getup
(D) =9 (D) sets
SPACE FOR ROUGH WORK / T% & & fod g
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46. *$Tﬁﬂaﬁﬂ’(@&Hu@)aﬂaqﬂaﬁé? 49,

(A) faly =T
(B) IR SR H el
(C) TIeal STeel S

(D) TERI ST

47, wEETE ey fRE WEa A 87
(A) A
(B)  STefHTIET @\
(C) T éo
(D) e \Q o
O
)
48, Frerifera fomam [T, ST
frverands, o7 T '
(A) adfed
(B) AW
(C) BEH
(D) o wd

FerTer e ¢ fifor fifsr 3 =1 T o o
af B2

(A) TH-FH h

(B) €R-#itd

€ wAH

&

*

TG F W BT - T FHEA A R
PR ea: Toheeh g feRe ST € 2

(A) TaR

SPACE FOR ROUGH WORK / 1% &Td o feidl S8
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PART - II : (A) B.Sc. Biology W - 11 : (A) ShUEHY, Sreieist.

BOTANY g fage
51. Which of the following is used in 51. Ceimded ¥ et § 9 forment swam fean
Taximetrics ? S ?
(A) Wood anatomy (A) IS GE

(B) Pollen grain
(C) Cytology fermm

(D) Mathematical evaluation 'E[@rﬁﬁ

following ?

(A) Phylloclade O (A) fraerre
(B) Cladophylls é (B) wISifrew
(C) Cladode OQ
(D) Phyllode @ (D) Twelre

53. Manoxylic and Pycnoxylic are characters 53. Aemafas o st e 8 9 frae

52. Asparagus is an example of which of the : 29 ek = o 9 foraent Semir €72

of which of the following ? AR B ?
(A) Wood (A) TS
(B) Cone (B) %
(C) Ovule (C) dfsog
(D) Seed (D) &

SPACE FOR ROUGH WORK / 1% &8 & To1d SFIE
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54.

55.

56.

If number of base pairs per turn of
D.N.A. is 12, then it will be a which form

of DN.A.?

[

Which of the following is an example of
Primitive angiosperms ?
Winteraceae

(A)

(B) Magnoliaceae

54.

55.

L 4

Ife €wAT ¥ i geE H &R Sitedl ®
T 12 9 A 98 ST, W1 HE Y B 2

(A) ¢

(B) i

ﬁmﬁ@wﬁwiﬁ?ﬂ@ﬁwm%?
Q

@;’w

OQ\ (B) e

(C) Degeneriaceae ©) EIERIECES
(D) All the above Q (D) S Tt
O
Which hormonge acted from the 56. @iEc % Tl W & HEH AR ¥ B
fungus, causa nism of bakanae B g foman 4 ?
disease of rice ?
(A) Auxin (A) st
(B) Gibberellins (B) SfeRe™
(C) Cytokinin (C) Wl
(D) Morphactins (D) Tk feRA

8120/HE-FO /RCE-M
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57. Which of the following enzyme

57. WM 99 W SiF 1 ghiered e A 9
transcribes the protein synthesizing frg famt F g 82
gene 7
(A) RN.A. Polymerase I (A) STRTAT, e |
(B) R.N.A. Polymerase II (B) STR.UA.T Yielmist 11
(C) R.N.A. Polymerase 11l (C) STRUA.T, Yiefist 111
(D) Al the above (D) I gt

58. Which mutagen is an Intercalating 58. ITHN IANTAE U TFHART FRF 32

agent ?

(A) Nitrous acid (A)

(B) 2 Amino purine ( =k
(C) Acridines @

(D) EMS. (D) ETA.TH.

59.  Match the following :

0
OQs Sfer Hery Sifed

(a) Die back disease (i) Zing (a) TE S AT Gy fow

(b)  Heart rot of (" (b) T U< AH (i) R
Sugarbeet IRETE

(c) Little leaf of Sulphur (c) foafes <fiw sifw (i) wowe
apple % Tqe

(d) Teay (iv) Boron (d) = =erAm (iv) SRMA
dlsease

Codes : e
@ (b) (o (d @@ (b) () (d)

(A) (@) (v) (@) () (A) () (v) (@) (@)

(B) @) (@) @) @ (B) () () @v) ()

© @) @v) (@) (i) © @ (v) @ (i)

O) @ @ (v) () D) @ @ (v (i)

SPACE FOR ROUGH WORK / % &1 & fod =g
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|

60.

61.

62.

Which of the following food chain runs

from larger animals to smaller animals ?
(A) Predator food chain

(B) Parasitic food chain

(C) Saprophytic food chain

(D) Both predator and parasitic food

chain

Flagella are not found in which class of
Algae ?

(A) Phaeophyceae
(B) Rhodophyceae
(C) Chlorophyceae

(D) Xanthophyceae

XX

Which of the @g is an asexual

fruiting body 7
(A) Perithecium
(B) Apothecium
(C) Pycnidium

(D) All the above

60.

61.

62.

e B | S E e 98 Sgel 9 s
igatl 1 ol St €2

(A) el T e
(B) ST WE e
(C) TSt T @

(D) el TE wSiE wrE e

NEIGH H penfuer 761 urg St

%“?O

00) o

(C) FARITHIEH
(D) Sl

firer § QB T STANTE HelHE § 2

(A) Tt
(B) wdieffETm
() fufeFfgam

(D) I |4l

SPACE FOR ROUGH WORK / T &d o ol s

8120/HE-FO/RCE-M

Set - A



63. Assertion (A) : 63.

Rate of transpiration is very high in the
plants growing in hills.

Reason (B) :

Atmospheric pressure is lower on hills.
(A) (A) correct, (B) wrong

(B) (A) wrong, (B) correct

(C)  (A) correct, (B) correct

(D) (A) wrong, (B) wrong

64. In

propagation stock and scion are tied

O

which method of vegetative

together ?
(A)  Gooteing
(B) Grafting

(C) Layering

(D) Budding E&O

65. Which of t}xlowmg is a cause of Boil 65.

disease ?

(A) Staphylococcus
(B) Mycobacterium
(C) Streptococcus

(D) Treponema

.

O

hYH (A) :

TeITgd 9 I A areul B arediensty w R
wga fere Bl §1

HIUT (B) :
YRIFedl W argHeed e &9 B 2
(A) (A) W&, (B) TeTd

(B) (A) T, (B) Wl

©) (A) =, (B) Wl

(D) _(A) e, (B) Trerd

TS 1 TR fafa & ot 3w o wem
I T T S S ?

(A) TE |t
(B) Ty
(C) T Faq

(D) =¥E el

I T T FRF T S E?

(D) o

SPACE FOR ROUGH WORK / T% &1 & fod g
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66. The activity of which of the following 66. wataE ghe e # ¥ forgs wfraa &

causes Primary growth ? HIO BT © 2
(A) Apical meristem (A) ey favaras
(B) Lateral meristem (B) e faveien
(C) Vascular cambium (C) Wered Hiterm
(D) Phellogen (D) FTSH
67. Which process is highly efficient in terms 67. TBIS fe7 ¥ wed # wEE wfma
of breakdown of glucose ? AR K © 7
(A) Oxidative phosphorylation . @W Rors oI
(B) Anaerobic respiration Q\(;) G CIPCIRIRERE]
(C) Alcoholic fermentation ©) SRR THHETH
(D) Anaerobic  respirat nd (D) A YA T FTopTeiTeish THOTH

Alcoholic fermen’ati@ |

68. Which of the fo?lgang is an example of 68, TFHEIEN WG forrd I SN f g9

Monopodial branching ? HH B2

(A) Nerium (A) S
(B) Plumeria (B) AR
(C) Pinus (C) uETE
(D) Vitis (D) dgfed
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69. Stratified cambium is found in which of 69.

the following ?
(A) Delbergia
(B) Grewia
(C) Salvadora

(D) All the above

70.  Which of the following plant hormone 70,

delays senescence ?
{A)  Auxin
(B) Gibberellins

S

(C) Cytokinin

(D) All the above Q
O

71. What is the
formation ot&' lucose molecule in C4

O

o ATP used in 71.

g T fr O 9 e s 2

(A) sEsfSEr
(B) AUl

(C) wreaEr
(D). 3Tl gft

Wm%ﬁqmﬁwﬁﬁﬁm

Aifea

(C) wRwRMT
(D) ST Tt

-4 =3k H THS F TF ] & Frafor
TR AW, T e gt

cycle ?
(A) 15 (A) 15
(B) 18 B) 18
() 36 (C) 36
(D) 30 ‘ (D) 30
____ SPACE FOR ROUGH WORK./ T & & o -s7E——
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72.  Which of the following forms lateral 72, Ted siel @ i i g forod S 87

roots ?

(A) Pericycle (A) irEmEiRe
(B) Epiblema (B) TS STRI
(C) Cortex (C) e
(D) Phloem | (D) wad

73. Match the following :

(@) SS.RN.A. (i) Herpes virus a QU'F{ ARTAT (i) Eﬁﬂm

() DS.RN.A. (i) Parvo virus Q (b) DT IR,

i) wEn femmg

() THTH ST (i) EESIRELIN

(¢) SS. D.N.A. (i) ) Rhino v1ru§
(d) DS.D.N.A. (iv) 6 86@ age (d) TLTE WL (iv) b 6 eI

L 4

Codes : ® %he .

(@) ﬂ’@@ @ ® (@ (@

(A) @) @O @) @ (A) @ @O @) @
® @ @) O @ ®) @) Gv) O @
© @ @) @ O © @) @) @ 0
D) @) @ @) 0 (D) @) @) @) O
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74.

In A cell, if ¢S value is — 16 and {y P value
is 8 and in cell B ¢ S value is —12 and

¥ P value is 2 then water will flow from :

(A) AtoBcell

(B) Bto A cell

(C) No flow of water

74..

I IR A H S A —16 3Ry P
A8 B TH FINHBH ¢S HTH —12 T
U P T 1M 2 ¥ STeT &7 918 2

(A) A ¥ B HIfvrR 1 3K

(B) B ¥ A I HT 3K

(C) <Te1 & gre & 2

(D)  All the above Iulead et
.. O
:\ ¢
75.  Umbrella shape canopy is fo@hmh 75. It S w1 e e § 9 ey g8 o
of the following tree ? Q RIRIRSIGI-
O
(A) Mang@ (A) ™
(B) Jackfruit (B) <mege
(C) Ber (C) =
(D)  Goldmohur (D) TR
SPACE FOR ROUGH WORK / T% &Td & for& wmig
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- ZOOLOGY e fagm

76. Which type of plasmid can exist with or  76. fipg TR H whe S % wmEEE ¥

without being integrated into the host’s THIE B AN A DR T THA B 2
chromosome ?
(A) Medisome (A) FEEH
(B) Lysosome (B) GISSSEsie]
(C) Lysogen | (C) wRESH
(D) Episome (D) T
77.  Which is a part of our brain ? 77. T d FAR ATk T IR & 2
(A) Corpora bigemina (A EIESIEE]
(B) Corpora quadrigemina ESIESIEER]
(C) Corpora allata S FHRIR AT

(D) Corpora adipose Q\ ‘(D) SR TEUS

78. Metameric segmentation | o 78, eifim AR fHwE T E?
characteristic of :
(A) Mollusca and chor Q (A) TSR E wisdl
(B) Platyhelmmthe0 Dhropoda (B) Rl @ eyt
(C) Echinod nnelida (C) wwEAEHe T THifere
(D) A_nnelid& arthropoda (D) UHifest g smYTarer

79. Genetic composition of Turner's  79. =it figm &1 ST HUSRE §

syndrome is :

(A) 44+ XXY (A) 44 +XXY
(B) 44 +XO ' (B) 44+XO

(C) 44+XXX (C) 44 +XXX
(D) 44+ XYY (D) 44 +XYY

SPACE FOR ROUGH WORK / T & & &l S
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80. Pleiotropic genes are those which have : 8. fierenaifies <9 3 20 € fod g @
(A) Single phenotype (A) TEe wHeET
(B) Multiple phenotype (B) WEEIIS HIFRET
(C) Multiple genofype (C) w&EITR SRRy
(D) Single genotype (D) TETeT SRR
81. In the process of freeze drying, a dense 81. WIS ST fRar H T FIfh WA
cell suspension is placed int small vials and BIET el H TRt WISt feman S & -
is frozen at :
(A) —60°to —78°C (A) —60°¥ —78C
(B) —20°to —30°C 0° ¥ —30°C
(C) —30°to —48°C ~30° 9 —48°C
(D) —48° to —58°C . ) —48°" -58°C
\ .
82. In an ecological interaction, 2. 'Q‘qv“lc'ﬁrwehc’! e o Eﬁ?@ﬁ"ﬁm EIR RG]
amensalism can be represented as  foran < wma ¥
(A + - A) + -
(B) - + Q B -+
<G +0 E&O < +0
(D) —0 Q D) -0
X
83. Which of the following statement best  83. FEHF WRE H AT AFH FF
describes a climax community ? il e © 2
(A) More stable more diverse (A) 3After Teur, stfyes fafimran
(B) More stable less diverse (B) tferem feerx, =y fafi=an
(C) Less stable more diverse (C) =H R, sifyes faferan
(D) Less stable less diverse (D) =¥ fer, %n fafi=m
SPACE FOR ROUGH WORK / T & & ) SR
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84. A
geographical areas is known as :

species

{A) Biospecies
(B) Allopatric species
(C) Sympatric species

(D) Sibling species

85. The unit used in indicating the distance ~ 85.

between two genes is :
(A) centimeters *
(B) centimorgans
(C) microns

(D)

angstrom

S
&>

86. Allof the follow&eaﬁnemt options  86.

for toxic alcohol poisoning except :
(A) Thiamine
(B) Folic acid
(C) Pyridoxine

(D) Hydroxocobalamin

inhabiting different 84.

fafir fasimnfree ofen & o€ w1 Sl

(A) SIS
(B) UaNiTesh STwiret
() forifes wiiefts

(D) Taafeln s

aﬁ:@ﬁiﬁﬁmﬁaﬁm%:
O

fr1 @ 3 fawea sTowed & fasredar
T TR TR § ?

(A) TommE
(B) hifereh 3T
(@IRIRKEESE]

~

(D) TEIGEEhISTATH
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87. Which one of the following is one of the 87. f=ada=AwW SIS TR &l T
characteristics of a biological g ?
community ?
(A) Sex-ratio (A) fem-srguE
(B) Stratification (B) TITHRTH
(C) Natality (C) SHI
(D) Mortality (D) g
88. Alleles that produce independent effects %%ﬂqu JTere § T 9‘3413[
in heterogygous condition are called :
(A) codominant alleles
(B) epistatic alleles \ o B) Sﬁéﬁ’ﬁb‘ Tefiettd
(C) complementary alleles OQ Q) Elo‘l":‘?fﬂ'ﬁZfT GitgiEs
(D) supplementary alleles (D) WwiH Teftelg
89. According to She]fo;d’s; tolerance, 89. VTHIS & Heier faq & 3TTER lesiisicH
an organism with w erance limit for fSrgent araraReia wRe & o geeiter
environment; udlly show : ferfie ST Bt & 9 Rivia #ar ®
(A) Wide ibution with low foregqa foator 9 o0 SAEET SR
population size
(B) Wide distribution with high (B) Tora formur 3 Smer SHEE SR
population size
(C) Narrow distribution with low (C) il forew 9 %Y THEEAT MHR
population size
(D) Narrow distribution with high (D) Hehtvl foaTe & SR SHE@T SHR
population size
SPACE FOR ROUGH WORK / T% & & f&1d W8
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90.

91.

92.

93.

The region where bacterial genome resides

is termed as :
nucleus
cytoplasm
nucleoid

ribosome with free region

Golgi apparatus takes part in : 91.

(A) Protein synthesis

Lipid synthesis
Carbohydrate synthesis

Oxidative phosphorylation

Linked genes may be separated by :

. :
Gene mutation @O
Segregatl

Crossing over

Polyploidy

Penicillin resistance in staphylococei is 93.

acquired due to :
(A) conjugation
(B) mutation

(C) transformation
(L

)
D) transduction

90.

(A) HEF

(B) HRIART

(© Ffsies

(D) TarE faer i eH

TR STERTOT ST AT B

(A) W fHafem 9

(B) RIEERY

( feifere &
D sitadiefea wEmierRd |

% foferg =g 3Term & W § :

i SeR @
(B) iciiemaEt 9@
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94.

95.

The plasmids can be eliminated from a

cell by the process known as :

(A) curing

(B) breaking
(C) fixing

(D) expulsion

Which among the following is more likely
to possess maximum amount of pesticides

in their body ?

94.

95.

wnfeas & wen 9 ey fafy 9 sem feen
IS ?

(A) wfa

(B) sfEn

(C) fwfem

(D) TFAGESH

=1 o 9 frgd YaEs i aifasmay [

§

. (}A)W

(A) Grasshopper T
\ ¢

(B) Rabbit Q (B) @Tiw

(C) Lion O () fog

(D) Snake Q (D) wd

O

96. Which of the chelating agents 9¢. =1 9 9 s faafdn s Al

is recommen r acute lead poisoning % WET F WY T H A9 fuw & ol

with signs of encephalopathy ? Frvfaa foran s 872

(A) Succimer (A) HHHIT

(B) Penicillamine (B) ufafaemmA

(C) Dimercaprol (C) SEUEI

(D) Dimercaprol + calcium EDTA (D) TR + Hiey@m EDTA
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97.

98.

99.

100.

What is the term used for a bacterial cell 97.

that is able to take up naked DNA ?
(A) Complementary |
(B) Liable

(C) Competent

(

D) Infected

Diagnostic DNA probes have been 98.

developed for :
(A) Mycobacterium tuberculosis

(B) Hepatitis B virus

(C) Human immunodeficiency virus

.
(D) All above Q\
Which of the following bacteria cax 99.

in acidic pH ?

A) Vibrio cholerae

XN

(
(B) Lactobacilli @
(C) Shigella Q

(D) Salmonella

Mitochondrial cristae are sites of :
(A) Breakdown of macromolecules
(B) Protein synthesis

©)
(

D) Oxidation - reduction reactions

O

Phosphorylation of flavoproteins

I8 S el o el & Sl 498 DNA
1 Rl 2

TAIfes DNA We fasfaa & g

s & ford
(B) B ™ & fod

(A)

(’)) TSR arE % ferd

®) IR aft F o

fr 4 - SRR ST pH W e
T T ?

(A) Tafsra sl
(B) rHRIafE
(©) feriren

(D) HEHAE

100, TEIHITEaT R fHas M R 72

A) AhIITARTH & AHSIS

B) W fHafad =
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PART - 1I : (B) B.Sc. Agriculture AT - 11 ; (B) SIL.UE. Gt Witehes)

AGRICULTURE SCIENCE CALRCEIE]
51. Crop should be harvested at : 51. TREGT Wi helg i ST |
(A) Physiological maturity (A) TrEETSea T=gRE
(B) Real maturity (B) @ a=gfE
(C) Over maturity TRt
(D) None of the above @) I H HIE ot T
O
.\ A
52. Farm production records indicate OQ 52. I 3cUrgH IferE, W Yl € -
(A) Financial position of fa® (A) & T g @t
(B) Production in qua@ (B) SR AW
(C) Production ir (C) ST FY ORI R
(D) All of\'s (D) S geff
53. Most abundant water pollutant is : 53. el I IR W H Ygfia ST
(A) Detergents (A) fTeesle
(B) Pesticides (B) THIORS
(C) Industrial wastes (C) TEEEA 9=
(D) Ammonia (D) sy

— "SPACE FOR ROUGH WORK / % & & o Smig
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